04-30-23| ST. PA UL, DMIINJ

DISC ONE
SET ONE

01INTRO 1:03

02 TEXAS 11:05

03 WATER 14:1

04 PANAMA RED 425

05 YO SE' 9:00

06 SING A NEW SONG 8:41
07 BHANGRA SAAN] 7:02

DISC T"WO

01 RHYTHM OF THE ROAD:> 8:58
02 PALACE JAM> 6:05

03 DESERT DAWN 1112

SET TWO

04 INTRO SET TWO 123

05 LEND ME A HAND 7:25
06 IT IS WHAT IT IS> 1629

07 | KNOW YOU RIDER> 5:55
08 STIR IT UP> 2:48

09 | KNOW YOU RIDER 3223

DISC THRER
01 DRAGONFLY 9:09

02 VERTIGO 5:07

03 BUMPIN' REEL> 11:08

04 DRUMS> 3:59

05 LET'S GO OUTSIDE 9:11
ENCORE

06 CHATTER 0:50

07 SHAKIN' THE TREE 13:49

INAAIDNI HSHAHD DNIELS dH.L

04-30-23 ST. PA UL, IMIIN

DISC ONE
SET ONE

01INTRO 1:03

02 TEXAS 11:05

03 WATER 1411

04 PANAMA RED 4:25

05 YO SE' 9:00

06 SING A NEW SONG 8:41
07 BHANGRA SAAN] 7:02

DISC T"WO

01 RHYTHM OF THE ROAD:> 8:58
02 PALACE JAM> 6:05

03 DESERT DAWN 1112

SET TWO

04 INTRO SET TWO 1:23

05 LEND ME A HAND 7:225
06 IT IS WHAT IT IS> 16:229

07 | KNOW YOU RIDER> 5:55
08 STIR IT UP> 2:48

09 | KNOW YOU RIDER 3:23

DISC THRER
01 DRAGONFLY 9:09

02 VERTIGO 5:07

03 BUMPIN' REEL> 11:08

04 DRUMS> 3:59

05 LET'S GO OUTSIDE 9:11
ENCORE

06 CHATTER 050

07 SHAKIN' THE TREE 13:49

INAAIDNI HSHAHD ONIELS dH.L

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size
for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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